Name: _________________					     Date: ____________________
The Friendly Number Strategy
Round your second number to the nearest ten to make it easier to work with.  Remember to show all your steps!
Here’s an example:
[bookmark: _GoBack]42 - 9 = 33
42 - 10 = 32
32 + 1 = 33

65 – 19 = ________							65 - 21 = ________


43 - 18 = ________							43 - 22 = ________


375 – 21 = ________						345 – 99 = ________


671 – 99 = ________						890 – 21 = ________


Explain how you would subtract 21 from 99.  Show your work
.
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